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Operations & Expressions 

-------------------- 
 
Welcome to the f ou r th lesson  i n  my  cou r se a b ou t M Q L4. 
T he p r ev i ou s lesson  “ D a ta  T y p es” p r esen ted  a  lot of  n ew  con cep ts; I  hop e y ou  u n d er sta n d  
i t, a n d  a b ov e a ll y ou  enjoyed i t. 
 
Y ou  ca n  d ow n loa d  the p r ev i ou s lesson  f r om her e: 
http ://f or ex -tsd .com/a tta chmen t.p hp ? a tta chmen ti d =399 
http ://f or ex -tsd .com/a tta chmen t.p hp ? a tta chmen ti d =37 2 
http ://f or ex -tsd .com/a tta chmen t.p hp ? a tta chmen ti d =469 
Don’t forget to login first. 
 
N ow , let’ s en j oy  the O p er a ti on s &  E x p r essi on s. 
 
 
W h a t ’ s t h e m ea ni ng  of  Op er a t i ons & Exp r essi ons? 
 
Y ou  kn ow  the op er a ti on s v er y  w ell. I f  I  told  y ou  tha t ( + ,-,*, /) a r e the b a si c a r i thmeti ca l 
op er a tor s, y ou  w i ll r ememb er  v er y  f a st w ha t’ s the op er a tor  mea n s. 
 
I  hea r  y ou  sa y i n g  “ O K , I  kn ow  the op er a ti on s; cou ld  y ou  tell me w ha t’ s the mea n i n g  of  
the ex p r essi on ? ” 
I dent i f i er s ( d o y ou  r ememb er  them?  I f  n ot, R ev i ew  the SY N T AX lesson ) tog ether  w i th 
the Op er a t i ons p r od u ce the Exp r essi ons. 
P u z z led ?  Let’ s i llu str a te i t i n  a n  ex a mp le: 
 
x  = ( y *z )/w ; 
 
x,y,z a n d  w, her e a r e i dent i f i er s. 
=,* a n d  / a r e the op er a t or s. 
T he w hole li n e i s a n  exp r essi on. 
 
W h en th e ex p ressions c om b ined  togeth er it m a k es a  statement. 
A nd  w h en th e sta tem ents c om b ined  togeth er it m a k es a  f u nc ti o n a nd  w h en th e fu nc tions 
c om b ined  togeth er it m a k es a  p r o g r am.  
 
 



 
I n  the r ema i n i n g  of  thi s lesson  w e a r e g oi n g  to ta lk a b ou t the ki n d s op er a tor s u sed  i n  
M Q L4.  
 
So, let’ s sta r t w i th the b a si c a r i thmeti ca l op er a tor s: 
 
 
1- A r i t h m e t i c a l  o p e r a t o r s: 

 
I n  M Q L4 ther e a r e 9 Ar i thmeti ca l op er a ti on s 
T hi s i s the li st of  them w i th the u sa g e of  ea ch: 
 
Op er a t or  N a m e Exa m p l e D esc r i p t i on 

+ Ad d i ti on  op er a tor  A = B + C; Ad d  B to C a n d  a ssi g n  the r esu lt to 
A. 

- Su b tr a cti on  op er a tor  A = B - C; Su b tr a ct C f r om B a n d  a ssi g n  the 
r esu lt to A. 

+ - Si g n  cha n g er  op er a tor s A = -A; C ha n g e the si g n  of  A f r om p osi ti v e 
to n eg a ti v e. 

* M u lti p li ca ti on  op er a tor  A = B * C; M u lti p ly  B a n d  C a n d  a ssi g n  the 
r esu lt to A. 

/ D i v i si on  op er a tor  A = B / C; D i v i d e B on  C a n d  a ssi g n  the r esu lt 
to A. 

% M od u lu s op er a tor  A =A % C; 
A i s the r emi n d er  of  d i v i si on  of  B 
on  C. ( ex : 10 % 2 w i ll p r od u ce 0 , 
10 % 3 w i ll p r od u ce 1). 

++ I n cr emen t op er a tor  A++; I n cr ea se A b y  1 ( ex : i f  A =1 ma ke 
i t 2). 

-- D ecr emen t op er a tor  A--; D ecr ea se 1 f r om A ( ex : i f  A =2 
ma ke i t 1). 

 
N ot e:  T he r ema i n d er  op er a tor  w or ks b y  d i v i d i n g  the f i r st n u mb er  b y  the secon d  n u mb er  
f or  the f i r st i n teg er  r esu lts a n d  then  r etu r n s the r ema i n i n g  n u mb er . 
 
F or  ex a mp le: 
10 %5 =0  
T hi s i s b eca u se i f  y ou  d i v i d e 10  b y  5  y ou  w i ll g et 2 a n d  ther e n o r ema i n i n g  v a lu e, so the 
r ema i n d er  i s 0 . 
10 %8 =2  
T hi s i s b eca u se i f  y ou  d i v i d e 10  b y  8  y ou  w i ll g et 1 ( 1*8 =8 ), so the r ema i n d er  i s ( 10 -8  = 
2). 
10 0 %15 =10  



T hi s i s b eca u se i f  y ou  d i v i d e 10 0  b y  15  y ou  w i ll g et 6 ( 6*15 =90 ), so the r ema i n d er  i s 
( 10 0 -90 =10 ). 
W h a t  a b ou t  6 %8 ? 
I t w i ll b e 6 b eca u se i f  y ou  d i v i d e 6 b y  8  y ou  w i ll g et 0  ( 8 *0 =0 ), so the r ema i n d er  i s ( 6-
0 =6). 
 
N ot e: Y ou  ca n ’ t comb i n e the i n cr emen t a n d  d ecr emen t op er a tor  w i th other  ex p r essi on s. 
F or  ex a mp le y ou  ca n ’ t sa y : 

 
A=( B+ + )*5 ; 
 
Bu t y ou  ca n  w r i te i t li ke tha t: 

 
A+ + ; 
B=A*5 ; 
 
N ot e:  H ow  the a b ov e ex a mp le w or ks?  Let’ s a ssu me: 
i n t A=1;  //set A to 1 
i n t B;  
A+ + ;   //i n cr ea se A b y  1, n ow  A=2 
B=A*5 ;   //w hi ch mea n s B=2*5  
 

 
2- A ssi g n m e n t  o p e r a t o r s: 
 
T he p u r p ose of  a n y  ex p r essi on  i s p r od u ci n g  a  r esu lt a n d  the a ssi g n men t op er a tor s setti n g  
the lef t op er a n d  w i th thi s r esu lt. 

 
F or  ex a mp le: 

 

A = B * C ; 
  
H er e w e mu lti p ly  B a n d  C a n d  a ssi g n  the r esu lt to A. 
(=) h ere is th e a ssignm ent op era tor. 

 
I n  M Q L4 ther e a r e 11 a ssi g n men ts op er a ti on s 
T hi s i s the li st of  them w i th the u sa g e of  ea ch: 

 
Op er a t or  N a m e Exa m p l e D esc r i p t i on 

= Assi g n men t op er a tor  A = B; Assi g n  B to A.  
+= Ad d i ti v e Assi g n men t 

op er a tor  A += B; I t’ s eq u a l to: A = A + B; Ad d  B to 
A a n d  a ssi g n  the r esu lt to A. 



-= Su b tr a cti v e Assi g n men t 
op er a tor s A -= B; I t’ s eq u a l to: A = A - B; Su b tr a ct B 

f r om A a n d  a ssi g n  the r esu lt to A. 
*= M u lti p li ca ti v e 

Assi g n men t op er a tor  A *= B; I t’ s eq u a l to: A = A * B; M u lti p ly  
A a n d  B a n d  a ssi g n  the r esu lt to A. 

/= D i v i si on a l Assi g n men t 
op er a tor  A /= B; I t’ s eq u a l to: A = A / B; D i v i d e A 

on  B a n d  a ssi g n  the r esu lt to A. 

%= M od u la ti n g  Assi g n men t 
op er a tor  A %= B; 

I t’ s eq u a l to: A = A % B; G et the 
r emi n d er  of  d i v i si on  of  A on  B a n d  
a ssi g n  the r esu lt to A. 

>>= Lef t Shi f t Assi g n men t  
op er a tor  A >>= B; I t shi f ts the b i ts of  A lef t b y  the 

n u mb er  of  b i ts sp eci f i ed  i n  B. 
<<= R i g ht Shi f t Assi g n men t 

op er a tor  A <<= B; I t shi f ts the b i ts of  A r i g ht b y  the 
n u mb er  of  b i ts sp eci f i ed  i n  B. 

&= AN D  Assi g n men t 
op er a tor  A &= B; 

Looks a t the b i n a r y  r ep r esen ta ti on  
of  the v a lu es of  A a n d  B a n d  d oes 
a  b i tw i se AN D  op er a ti on  on  them. 

|= O R  Assi g n men t 
op er a tor  A |= B; 

Looks a t the b i n a r y  r ep r esen ta ti on  
of  the v a lu es of  A a n d  B a n d  d oes 
a  b i tw i se O R  op er a ti on  on  them. 

^ = XO R  Assi g n men t 
op er a tor  A ^ = B; 

Looks a t the b i n a r y  r ep r esen ta ti on  
of  the v a lu es of  tw o A a n d  B a n d  
d oes a  b i tw i se ex clu si v e O R  
( XO R ) op er a ti on  on  them. 

 
 

3- R e l a t i o n a l  o p e r a t o r s: 
T he r ela ti on a l op er a tor s comp a r e tw o v a lu es ( op er a n d s) a n d  r esu lt f a lse or  tr u e on ly .  
I t’ s i s li ke the q u esti on  “ I s J oh n ta ller  tha n  Al f r ed ?  Y es / n o? ” 
T he r esu lt w i ll b e f a lse on ly  i f  the ex p r essi on  p r od u ce z er o a n d  tr u e i f  i t p r od u ces a n y  
n u mb er  d i f f er i n g  f r om z er o; 
 
F or  ex a mp le: 
 

4 == 4;            //tr u e 
4 < 4;              //f a lse 
4 <= 4            //tr u e; 
 
I n  M Q L4 ther e a r e 6 R ela ti on a l op er a ti on s 
T hi s i s the li st of  them w i th the u sa g e of  ea ch: 



 
Op er a t or  N a m e Exa m p l e D esc r i p t i on 

== E q u a l op er a tor  A == B; T r u e i f  A eq u a ls B else F a lse. 
!= N ot E q u a l op er a tor  A != B; T r u e i f  A d oes n ot eq u a l B else 

F a lse. 
< Less T ha n  op er a tor s A < B; T r u e i f  A i s less tha n  B else F a lse. 
> G r ea ter  T ha n  op er a tor  A > B; T r u e i f  A i s g r ea ter  tha n  B else 

F a lse. 
<= Less T ha n  or  E q u a l 

op er a tor  A <= B; T r u e i f  A i s less tha n  or  eq u a ls B 
else F a lse. 

>= G r ea ter  T ha n  or  E q u a l 
op er a tor  A >= B; T r u e i f  A i s g r ea ter  tha n  or  eq u a ls 

B else F a lse. 
 
     

 

4- L o g i c a l  o p e r a t o r s: 
 

Log i ca l op er a tor s a r e g en er a lly  d er i v ed  f r om Boolea n  a lg eb r a , w hi ch i s a  ma thema ti ca l 
w a y  of  ma n i p u la ti n g  the tr u th v a lu es of  con cep ts i n  a n  a b str a ct w a y  w i thou t b other i n g  
a b ou t w ha t the con cep ts a ctu a lly  m ea n. T he tr u th v a lu e of  a  con cep t i n  Boolea n  v a lu e ca n  
ha v e j u st on e of  tw o p ossi b le v a lu es: tr u e or  f a lse. 
M Q L 4  na m es th e L ogic a l op era tors a s B oolea n op era tors 

 
M Q L4 u ses the most i mp or ta n t 3 log i ca l op er a tor s. 
T hi s i s the li st of  them w i th the u sa g e of  ea ch: 

 
Op er a t or  N a m e Exa m p l e D esc r i p t i on 

&& AN D  op er a tor  A && B; 

I f  ei ther  of  the v a lu es a r e z er o the 
v a lu e of  the ex p r essi on  i s z er o, 
other w i se the v a lu e of  the 
ex p r essi on  i s 1. I f  the lef t ha n d  
v a lu e i s z er o, then  the r i g ht ha n d  
v a lu e i s n ot con si d er ed . 

| |  O R  op er a tor  A || B; 

I f  b oth of  the v a lu es a r e z er o then  
the v a lu e of  the ex p r essi on  i s 0  
other w i se the v a lu e of  the 
ex p r essi on  i s 1. I f  the lef t ha n d  
v a lu e i s n on -z er o, then  the r i g ht 
ha n d  v a lu e i s n ot con si d er ed . 

! N O T  op er a tor  !A; N ot op er a tor  i s a p p li ed  to a  n on -



z er o v a lu e then  the v a lu e i s z er o, i f  
i t i s a p p li ed  to a  z er o v a lu e, the 
v a lu e i s 1. 

 
 
 

5- B i t w i se  o p e r a t o r s: 
T he b i tw i se op er a tor s a r e si mi la r  to the log i ca l op er a tor s, ex cep t tha t they  w or k on  a  
sma ller  sca le -- b i n a r y  r ep r esen ta ti on s of  d a ta .  
T he f ollow i n g  op er a tor s a r e a v a i la b le i n  M Q L4:  

Op er a t or  N a m e Exa m p l e D esc r i p t i on 

& AN D  op er a tor  A & B; 
C omp a r es tw o b i ts a n d  g en er a tes a  
r esu lt of  1 i f  b oth b i ts a r e 1; 
other w i se, i t r etu r n s 0 . 

| O R  op er a tor  A | B; 
C omp a r es tw o b i ts a n d  g en er a tes a  
r esu lt of  1 i f  the b i ts a r e 
comp lemen ta r y ; other w i se, i t 
r etu r n s 0 . 

^ E XC LU SI V E -O R  
op er a tor  A ^  B; 

C omp a r es tw o b i ts a n d  g en er a tes a  
r esu lt of  1 i f  ei ther  or  b oth b i ts a r e 
1; other w i se, i t r etu r n s 0 . 

~ C O M P LE M E N T  
op er a tor  ~A; U sed  to i n v er t a ll of  the b i ts of  the 

op er a n d .  

>> T he SH I F T  R I G H T  
op er a tor  A >> B; 

M ov es the b i ts to the r i g ht, 
d i sca r d s the f a r  r i g ht b i t, a n d  
a ssi g n s the lef tmost b i t a  v a lu e of  
0 . E a ch mov e to the r i g ht 
ef f ecti v ely  d i v i d es op1 i n  ha lf .  

<< T he SH I F T  LE F T  
op er a tor  A << B; 

M ov es the b i ts to the lef t, d i sca r d s 
the f a r  lef t b i t, a n d  a ssi g n s the 
r i g htmost b i t a  v a lu e of  0 . E a ch 
mov e to the lef t ef f ecti v ely  
mu lti p li es op1 b y  2. 

 
N ot e Both op er a n d s a ssoci a ted  w i th the b i tw i se op er a tor  mu st b e i n teg er s.  

  



6- O t h e r  o p e r a t o r s: 
 
T her e a r e some op er a tor s w hi ch u sed  i n  M Q L4 a n d  d on ’ t b elon g  to on e of  the p r ev i ou s 
ca teg or i es: 
 

1- T he a r r a y  i n d ex i n g  op er a tor  ( [ ] ). 
2- T he f u n cti on  ca ll op er a tor  ( ( ) ); 
3- T he f u n cti on  a r g u men ts sep a r a tor  op er a tor  -comma  ( ,) 
 
W e w i ll kn ow  mor e a b ou t the Ar r a y s a n d  F u n cti on s i n  the n ex t lesson s, so j u st 
r ememb er  these 3 op er a tor s a s “ O ther  op er a tor s”. 
 

 
 
O p e r a t o r s P r e c e d e n c e : 
 
I f  y ou  d on ' t ex p li ci tly  i n d i ca te the or d er  i n  w hi ch y ou  w a n t the op er a ti on s i n  a  comp ou n d  
ex p r essi on  to b e p er f or med , the or d er  i s d eter mi n ed  b y  the p r eced en ce a ssi g n ed  to the 
op er a tor s i n  u se w i thi n  the ex p r essi on . O p er a tor s w i th a  hi g her  p r eced en ce g et ev a lu a ted  
f i r st. F or  ex a mp le, the d i v i si on  op er a tor  ha s a  hi g her  p r eced en ce tha n  d oes the a d d i ti on  
op er a tor . T hu s, the tw o f ollow i n g  sta temen ts a r e eq u i v a len t:  
 
x  +  y  / 10 0  
x + (y / 100) //unambiguous, recommended 
 
 
W hen  w r i ti n g  comp ou n d  ex p r essi on s, y ou  shou ld  b e ex p li ci t a n d  i n d i ca te w i th 
p a r en theses ( )  w hi ch op er a tor s shou ld  b e ev a lu a ted  f i r st. T hi s p r a cti ce w i ll ma ke y ou r  
cod e ea si er  to r ea d  a n d  to ma i n ta i n .  
T he f ollow i n g  ta b le show s the p r eced en ce a ssi g n ed  to the op er a tor s i n  the M Q L4. T he 
op er a tor s i n  thi s ta b le a r e li sted  i n  p r eced en ce or d er : T he hi g her  i n  the ta b le a n  op er a tor  
a p p ea r s, the hi g her  i ts p r eced en ce. O p er a tor s w i th hi g her  p r eced en ce a r e ev a lu a ted  b ef or e 
op er a tor s w i th a  r ela ti v ely  low er  p r eced en ce. O p er a tor s on  the sa me g r ou p  ha v e eq u a l 
p r eced en ce. W hen  op er a tor s of  eq u a l p r eced en ce a p p ea r  i n  the sa me ex p r essi on , a  r u le 
mu st g ov er n  w hi ch i s ev a lu a ted  f i r st. All b i n a r y  op er a tor s ex cep t f or  the a ssi g n men t 
op er a tor s a r e ev a lu a ted  f r om lef t to r i g ht. Assi g n men t op er a tor s a r e ev a lu a ted  r i g ht to 
lef t.  

( )     F u n cti on  ca ll                  F rom  left to righ t 
[ ]      Ar r a y  elemen t selecti on  
 

!       N eg a ti on                        F rom  left to righ t 



~       Bi tw i se n eg a ti on  
-      Si g n  cha n g i n g  op er a ti on  
 

*      M u lti p li ca ti on                  F rom  left to righ t 
/      D i v i si on  
%     M od u le d i v i si on  
 

+       Ad d i ti on                        F rom  left to righ t 
-      Su b tr a cti on  
 

<<     Lef t shi f t                     F rom  left to righ t 
> >      R i g ht shi f t 
 

<      Less tha n                       F rom  left to righ t 
<=     Less tha n  or  eq u a ls 
>       G r ea ter  tha n  
> =     G r ea ter  tha n  or  eq u a ls 
 

==     E q u a ls                         F rom  left to righ t 
! =     N ot eq u a l 
 
&       Bi tw i se AN D  op er a ti on           F rom  left to righ t 
 

^       Bi tw i se ex clu si v e O R            F rom  left to righ t 
 

& &      Log i ca l AN D                     F rom  left to righ t 
 

| |      Log i ca l O R                      F rom  left to righ t 
 

=      Assi g n men t                     F rom  righ t to left 
+ =     Assi g n men t a d d i ti on  
-=     Assi g n men t su b tr a cti on  
*=     Assi g n men t mu lti p li ca ti on  
/=     Assi g n men t d i v i si on  
% =     Assi g n men t mod u le 



> > =    Assi g n men t r i g ht shi f t 
<<=    Assi g n men t lef t shi f t 
& =     Assi g n men t b i tw i se AN D  
| =     Assi g n men t b i tw i se O R  
^ =     Assi g n men t ex clu si v e O R  
 

,      C omma                           F rom  left to righ t 
 

 
 
 
 

I  hop e y ou  en j oy ed  the lesson . 
I  w elcome v er y  mu ch the q u esti on s a n d  the su g g esti on s. 
 
See y ou  
Coder s’  G u r u  
23-10 -20 0 5  
 


